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~ist two properties of a Rhombus which are not the same as a parallelogram
@
b) Solve

(x+4) =3(x+4) @)

¢)Sketch the following on separate diagram showing all the important featurcs.

2 y=vI6-x* )
b)y =V3+x @
Oy =— '
x+2 2
QUESTION TWO
, -x
LB
evaluate g(=2) + g(J) - g(V).
b) State the domain of the following
D ye— @
i) y=va-x? +Jx43 3)

¢) Find the value of x in the following giving reason.
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a)Sketch the function
2x+2 forx<0
G(x)={x'+2 for0sx<2
x+7 forx>2

b)If y = x* -2 ,find the range if the domain is defined by x>0,

¢) Solve 16** =§l'~

d) Find the exact value of (0.13131313.....)

¢e) Solve =1

QUESTION FOUR

a)If f(x)=4x*~4x-8
)  Find f(-3)
i) Find f(x+7)

i) For what values of x is f(x)=07?
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iv) If g(x)=4x-8 for what values of x is f(x)=g(x)? (2)

b) Graph the region on the number plane satisfied by y<x+3 and y > x* -6x.

¢) Prove that APRS is similar to APQT ,hence find the value of z.
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B u _1* B )b = 32 4 l2
b) Determine whether ()i function S(x) = 4x

L5y 50 T
=7 Isodd, even or neither, ) "——-"‘l"""s Jf' o ———— e
4 — (et @44y z0o :
©) Find the value of X ,giving reasop, 3) e xa-\_or =Y o SR
55° TC‘) Aﬁ_.’\ . ) ! -
. TN :
| T\ S
P .
: dx° 2x° .
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QUESTION SIX ——
> a) L i
1) Sketch the curves y=|x ~Y andy=s_ ] on the same diagram  (4) T
i) Hence or otherwise solve [x -3 +h<s Q) B
.0
b) Find the valye of x. Giving reason. (3) "
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